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Tevel and Chulin are intermingled - 7T T PAMYR PIIM DAY

Overview

The Xn»12 stated that if a ?X7w° and a *121 bought a field in partnership the produce
is an admixture of Y20 and 121 according to *27." There is a dispute between >
and M>ooIN as to the exact status of this produce and how it can be jP1n%.

- P9IN NIYNY YAV N8N PRY AOM VN 93 9 PN *D9VNPa W90

»''w explained that there is no single wheat that is not half %2 and half 1% -
- 1953 913 Y207 N9 193 Y20 5Y 1991 XY *192) 1939 WYY 7098

And so it is necessary to tithe from this mixture itself, and not to tithe from this

mixture on ‘regular’ 2w, and not from =123 %2v on this mixture; the reason for this
restriction -

- 529501 Y 097 1) 109N Y 219NN I YWY %191
Since he is separating from grain which requires 2w¥y» to grain which is exempt

from wyn, or from the 915 on the 2197 -
- Ya¥ 295NN Y¥1aY 299NN I WP *1r3) 73 WIION 93 YaN

However if he is w>32% from this mixture itself he is tithing from the 2177 on the

297 contained therein -
— 2V V9N Yy 1Ay MVan 12D

And from the 715 on the "1 wd therein -

- 717992 PNRT D12 1D JPODA 1IN 1999N)
And this rule applies even after the *7511 PR divided the grain, their doubtful
status still remains since we maintain 779592 1°8 —

! The half which belong to the %X is 2av, but the half which belongs to the 321 is "7 (since there is no obligation
on the >721 to separate MAWYM NIMIIN).

*%ap .

? The ten percent 7wy» for this mixture must be taken from this mixture, but not from other produce (which is 2v
71m3). He may also not be w91 from this mixture on other 73 92u. Normally one may be w»9n from different
harvests (from the same year) on one another since they are all 213 92v, but not in this case.

*If he is separating from other 773 920 he is being 2117 12 w97 on the Mwd, for part of this mixture is 1211 and not
obligated in »n"yn nw1on. See w"w who asks; he could be won half the amount, since (according to ") half is 92
and half is 7"51. See nwn noma.

> If he is separating from the mixture on I3 220 he is 2177 %9 W97 12 WM.

% Let us assume that his share the harvest was a hundred grains; each grain is half %2v and half 1"91. He separates ten
grains as Wyn, so ten half grains of 713 %2v will be 1pnn the remaining ninety half grains which were 113 %2v.

" If they divided and the X took his hundred grains, he still cannot be Twy» from %3 2v, for his hundred grains
remain in the same status as they were before, namely 71 *m1 92w *x¥n, we cannot say that now that the X2 took
half, these are his half of 22v, for we maintain 77°2 X, meaning that what happens later cannot clarify the initial
7?90, and since initially each grain is half 920 and half P21, this P50 remains throughout, and the only option is to be
wyn the ten percent from this very same mixture.
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In summation; according to *"w" whenever a division takes place we do not assume that each
party received the half initially designated as his share, but rather each item in the inheritance
(each grain, for instance) belongs half to one party and half to the other party [it is only that each
party agrees to relinquish his rights in the half that the other party took].

mooIn disagrees with >"wAo:
- Y0 mmeY 1PNy 03NN 927 910 19379 INY T30 1937 IN1 DY 9aNRT DY

And there is a difficulty with *"w"9, for the Xn) states later, that if n19%p 1p is

not like 71377 1737, and the brothers who divided the estate are buyers from each

other; if we make these two assumptions -
- Bamy 43 70 N9N 2099192 209997 NNUN NY

We cannot find a case that one brings 2371253, unless he is a single son, the son

of a single son until yw1; this is what the X723 states, and Mo asks -
- ¥0991923 299017 12 HYN INTIA 19 WP 19993 PN VINT XY 1PN XD

However even according to the one who maintains 779992 1R, nevertheless he

certainly has a portion which is obligated in 259122 -
- (3,89 97 X3 X23) DIPQDN DI PPIIINTY Y WITHN 28 PN NIAY Famnn)

8 X,mn on the very bottom.

® M0 13p means that the buyer only bought the rights for the produce of the land (for a certain extent of time), but
he does not own the actual land.

19937 P1p means that one actually owns the item (in our case the land). In the times of the p"»i1°2 one could buy a
field only up to 72v; when 721 arrived all the fields reverted back to the original owners. It therefore follows that the
buyers only had a n17°0 1°3p (up until 72v), but not a 37 PIp.

" When two brothers inherit their father’s estate and then divide it we can either assume that they are 2w and
each son took his share which rightfully belongs to him (this will be called 77"12 @), or we can say we are not sure
which share belongs to which son (77°72 X), rather when dividing the estate the two brothers agree that whichever
portion falls to each one, they agree to relinquish their right in the part which the other brother took, in exchange that
the other brother will relinquish his part in which he took. In short they are bartering or exchanging their portions
which is the equivalent of buying and selling. If we make this assumption they will need to return the fields to each
other on 921 (since they ‘bought it’ from each other) and make a new division. None of the brothers who inherit are
considered true owners of the fields since they only have a n17°2 11p in it.

12 Regarding 0>M12°2 myn the 7N writes (>3 [Xan] 0°127) that the one who bring the 012" states, ARTNA 1 WX
% nn1 wK; however since the heirs only have n11°o 1°3p they cannot say *2 nni WX (it does not truly belong to them).

" If the person, who received the field in the times of yw17, had only one son, who inherits the property completely
(737 11p) and he in turn had only one son, and this continued till the present time, this single son can bring 0°7113"2
and state *2 nn1 7WX; however in any other case they cannot.

' s"y»9 maintains that regarding the produce which belongs to the %W and *323; in each kernel of wheat, half
belongs to the 8w and half to the *121. We need to assume the same by an inheritance that each piece of property
belongs half to one brother and half to the other. So whatever either brother took, half of that actually belongs to him
(as a 717 71p) it is only the other half which belonged to his brother that he is buying it off him and in that half he
only has m7 11p. Therefore even though we do not know which half is 717 112 and which half is M7 71p,
nevertheless since a part of his field belongs to him, he must bring those fruits as 0>1>22.

"> This refers to the produce that grew on his ‘bought’ part of the field, which he did not inherit. Mo is addressing
the issue that since half of the produce that he is bringing as 0132 is 1217, he is therefore bringing 7713 1211 which
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And the remainder which is 1991 he can be w7p» it, as the X773 states'® in rial-
naveen —

mooIN rejects a possible resolution according to *"wA:
= INRP YWITPNY TIVY IV 1NN D912 IN1NT NNIWN NIT 9D PHIN

And it is difficult to say that the X773 means that we cannot find a case that one
brings 2°7122 properly, without needing to be w>7p» part of it -

- annm Y95 100 X9T ynUn Nawsvt
For the expression nrown R indicates that the X773 means that he cannot bring
it at all (even with w>1pn); the question is why not according to >"w" —

mooIn has an additional question on *"wA5:
- UNIN 8N X9 B350 WNRN 333 @anne1mman 99 U 9993 N

And furthermore in 2122 2> P75 regarding the discussion of ‘five 2’y but not

half of five ov»o’ -
- 2mnYpY NENMY W AENN IPINY PANRD FANRT SON 297 175 NIN RNPYY $9197 NP

The X 13 there states that all agree with X''S who maintains, the brothers who

divided the estate are considered as half inheritors and half buyers. This concludes

the citation from the X713 there. NHOIN continues -
- Zynn s8n 199N winn 9INRT INNDY ITPAN 1PNV )N MNIPY IN DAN YHIYN

This implies that if they are considered nmymp® they would be exempt even

is prohibited.

' See the xm3 there that he is w>7pn it 27 Nw1TP and then he redeems it. In any event why does the X»3 say that the
only way to bring 2°12°2 is by 71 72 71, when we have this option of being w>7pn it, according to *"w7 who
maintains that half of the inheritance is indeed his.

7 See 7w 0" that even if someone bought the field M5 he brings >3, however he does not ‘read’ the 7w
of @>M>°2; he is XMp 1K1 X2, See “Thinking it over’ # 1.

'8 The case there in the mwn (on the '} 7T1Y) is when a woman gave birth to her firstborn twins and the father died
before he performed a 727 11"75. There is a dispute between n"7 (who maintains that the sons are not obligated in
2"7179), and "1 (who maintains that they are obligated).

' The X3 there establishes the np1om» in a case where the entire inheritance was exactly five 2°v90. We assume that
both >"71 n"7 agree with "0k 27 that the inheritance is considered half 7v17° and half a purchase (see footnote # 19).
We also agree that an oral loan (like the obligation of a 2"7179) can be collected from the w71 but not the mmp».
Since their inheritance is mmpY axnm owae nxnn, therefore only two and a half 2v%0 (or 2°v90 wnn *¥n) is
collectible. n"1 maintains wan *¥n 871 wnan (therefore they are Mvo), while " maintains Wi > 12°98) wnn (therefore
they are 2m1). See there for more details.

0 If we maintain 7772 " then the sons are considered w17, each one received the proper parcel that was destined
for him as his inheritance. If we maintain 777°72 PX then the sons are bartering their respective share in the inheritance
and so are considered NMP? (see footnote # 11). *0R 27 was in doubt whether 77712 ¥ or 7712 PR, therefore he said we
will consider the sons as PwaY nxma (for perhaps 771772 w°) and nmp? mxnn (for perhaps 77772 ).

*! The only reason why they pay 2°v%0 >$r1 wnr is with the understanding that they are a>w=1 73, but if they would
be mmP, they would owe nothing.
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according to °"1 who maintains w2 93 290X wr; the reason is -
- ZN2%Y winn s8N 199NT

For there is even no w»m 3 —

moon offers his view:
- B2oyaoys T2y DY PON D 1D YN NNY 19993 PINT 11997 N1 DAY NIPN PPNT AN 7aY

Therefore it appears to N1o01n that there is no way to rectify this »aw, for since

we maintain 57912 PR, perhaps the X7 received the entire portion of the 'y -
= 11199 )9P9> NDY 8N IN

Of half his portion, but we do not know how much of the s>131 portion the x>

received -
- 052915 1219 5¥ 195N INUM Z4p9nn Tun XY 7531 7935 WD IN)

So if he will be "wy» from the produce itself, perhaps the “wy» is from his

share but the rest is the s'»721 share -
- N8P IN PNIDIN IN
Or the opposite, or partially his and partially the s"721. Therefore one cannot be @>9n
) IN -
- 7anN 01911 1959 D) YWII9%) TNN DIPNM 1Y YWIIIY 13PNY 9199 17191
However he can rectify the produce by separating “wyvn for it from another place -
- VYN ON 23 INYS XYY 1Y YP9IPN PINK PINN)
And each last "w¥» in this progression is questionable, until there will remain
only a small amount which is questionable -
£9999 1795 031 *NM1INn Mmavynn 59

> However according to *"w7 who says that in every partnership each partner owns half of each part of the
partnership, so even if they are mmp?, but that is just regarding half, but one half is certainly his, so why are they
7o from 2"7379 even if we maintains 37 nIMPS?!

* mpoin disagrees with *"wA that it is half and half, but rather we have no way to ascertain which part each partner
or heir received; perhaps he received his designated parcel completely or he did not receive anything from his
designated parcel, or he received a certain percentage of his designated parcel.

* He received a hundred bushels as his share perhaps only ten of them is his real inheritance (and is 2v) and the
other ninety really belong to the *731 (and is P21) and he merely bartered it from him.

% 1n this case he is being 7wy from the 21 (his share) on the 71w (the 131 share), in which case it is not “wyn and
this 2wyn is still 220.

%% The wyn belongs to the *121 (so it is really 1°211) and the rest belongs to him (?2v), and one cannot be w91 from
7237 on 22w

?7 Let us assume that the 95X received five-hundred bushels as his share; at most he is required to give fifty bushels as
qwyn. H therefore finds fifty [five] bushels of unquestionable 22v and makes them “wyn for his five hundred bushels.
Now his share is no longer 92v in any case. However it is possible that his entre share of five hundred was 121 (for
it belonged to the *1231), so therefore the fifty five bushels of 92w, which he used as wvn, are still 72v (since he was
o7 %Y 211 1 won). He therefore takes a different six bushels of 20 &7 and is w197 them for the fifty bushels.
So now the fifty five bushels are certainly nn, the problem is only with the six bushels so he takes 2/3 bushel, and
is W o7 it as wyn for the six bushels and so he continues until the questionable w¥» is a very minuscule amount.
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And all the n»wy» and n19n he should give to the 37> and .

Summary
According to *"w7 when dividing a partnership each party owns a half of each

piece (grain), while according to m»doIN it is indeterminable (if we maintain X
7772).

Thinking it over

1. If we assume that if one has a M7 PIp he is XMp X X2, why does MooIn
write that % w7pn *¥n PO XYW M, why is there any 2°nm,” since he is
obligated to bring even the fruits where he only has a M1 Pip?!*!

2. mooIN writes at the very end 991 1739 01n° 191 Mwyn 231.°% Seemingly part of
this "wyn was separated poon, why is he required to give it to the "9, the owner
should say X171 1oy 112mm X°¥1:; prove that these crops where actually aun?!>

*® The means the fifty five bushels and the six and the 2/3, etc. (see footnote # 27). See “Thinking it over’ # 2.
¥ See footnote # 17.

3 See footnote # 15.

31 See 7w*am 7"w 0" and TwH N9

32 See footnote # 28.

3 See w"wn and Awn N5 A" 0",
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